RETFAN 2RAFEX ER 22=a 03

1. XOFGHERZzMT. (S5, Afk508, Bik14740%, C#3747)

(1)  2%2=3 (2)  2%2=38
(3) 2?2=25 (4)  22=150
(5)  x%*=10000 6) 2= %
(1) 2? =256 (8) 22— %
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2. ROFGEAZEMT. (SH30F, Afks558, B1440F, C#% 34 )

1) 2*=5 (2)  a%=2r
(3)  2?=49 (4)  2*=200
(5)  a® = 1000000 6) a2— %
(1) 2?2=324 Q) 2% = %
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RETAN 2XAER BER z22=a 03 BEEH

1. XOFGHERZzMT. (S5, Afk508, Bik14740%, C#3747)

(1)  2*=3 (2) 22=38

x =13 = +2v/2

Yl + ) ZENENI L.
F 4 oFEkiE T +v3XE — V3

(3) 22=25 (4) 22 =150
=15 r = +150
r = =£52x6
r = =456
5) 2 — 10000 2_ 1
( x (6) T 61
x = £100 e =41
19
¥ 192 = 361
(1) 2%=256 (8) a%= %
x2 — 162 T — ii
V5
x = 41.6
r = :I:ﬁ
5
¢ 162 = 256
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2.

ROFREAZ T, (SHh30%, Afks55%, Bfh1440%, C#h347)

(1) 22 =5

x = +/5
3) z? =49

r =7

(5) 22 = 1000000

x = £1000

(7) x? =3.24

2 = 1.82
r = =£1.8
¢ 182 =324

(2 22=27
r = :I:\/ﬁ
x = 433

(4) 2?2 =200

x = £v200
z = 4102

¢ /200 = V102 x 2

2 _ 1
(6) 9:—289
T
T
¢ 172 = 289
2 _ 3
(8) w—5
V3
- 41 V9
! V5
r = :I:%
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